LN
JGit 118N HLBIA SRR com
mi

{E&: MingGH
[R5 https://Id246.com/article/1631719565621
SRR, HEE
el ER-tEESHEE 4.0 EfR (CC BY-SA 4.0)


https://ld246.com
https://ld246.com/member/MingGH
https://ld246.com/article/1631719565621
https://ld246.com
https://creativecommons.org/licenses/by-sa/4.0/
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private static List<DiffEntry> diff(String path) throws GitAPIException, IOException {
try (Repository repository = RepositoryUtil.getRepository()) {
try (Git git = new Git(repository)) {

Iterable <RevCommit> commits = git.log()
.addPath(path)
.call();

RevCommit latestCommit =
StreamSupport.stream(commits.spliterator(), false)
.reduce((cT1, c2) -> c1l.getCommitTime() > c2.getCommitTime() ? c1: c2)
.orElseThrow(NullPointerException::new);

AbstractTreelterator oldTreeParser = TreeParserUtil.parser(repository, latestCommit

name());
return git.diff()
.setOldTree(oldTreeParser)
.setPathFilter(PathFilter.create(path))
.call();
}
}
}
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2.1 YEEDIffEntryilt{TiGL

public static void printDiff(DiffEntry entries){

DiffFormatter diffFormatter = new DiffFormatter(System.out);

try {
diffFormatter.setRepository(RepositoryUtil.getRepository());
diffFormatter.format(entries);

} catch (IOException e) {
e.printStackTrace();

Hinally {
diffFormatter.close();

}

}
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return git.diff().setOutputStream(System.out)
.setOldTree(oldTreeParser)
.setPathFilter(PathFilter.create(path))
.call();
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